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A. 4x%x5
B. 5x5
C.6x2
3.
9 pounds of pears cost $18.00.
How much does 1 pound cost?
Which answer form is best?
A. 2 pounds
B. 2 pears

C. $2.00

A. 10

There are 12 cupcakes.
6 friends share them evenly.
How many does each friend get?

Which answer form is best?

A. 2 pounds
B. 2 cupcakes
C. 2 friends



There are 20 candles.
6 friends share them evenly.
About how many does each friend get?

Which answer form is best?

There are 25 dots in 5 rows.

How many dots in each row?

A. 3 candles
B. 3R2
C. 3 friends

5)165

What do you do first?

A. . 5+5
B. 16 +5
C.6+5

A. 5+25
B.25-5
C.25+5
8.

Steve walks 14 miles in 7 days.

How many miles does he walk each
day?

A.7x7
B. 1177
C.14+7
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What do you do first?

There are 30 coins in 5 rows.

How many coins in each row?

A. 30-5 A.2+5
B. 30 +5 B. 42+5
C.30+5 C.29+5
1. 12.

4)$12.00

A. $4.00 A.6x6
B. $3.00 B. 18+ 3
C. $9.00 C. (3+6)+18
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A. 40
B. 43
C. 46
15.
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A. 61 R4
B. 60 R4
C. 61 R1

14.

T T T L

Ll
1234056 7 8 9 10 11 12

i
T

o4—

Start at 12. Jump by 3 spaces.

How many jumps to get to 0?

.3
C. 4
16.
00000
00000
00000
00000
There are 20 dots in 4 rows.
How many dots in each row?
A. 20+4
B. 4+20
C.20-4
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